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1 [dJuim] 1,133 |deJudi | 51,964 |dEJuLINTH | 2,128,864 i FHET 14,896 |Xij T 697,125 iXijFHET 8,082 | 1
2 |f&Em 892 |t i 21,283 |XiHET | 1,278,616 i@ A5t 9,294 |AtFuMT | 684,321 IHUEEEFTH| 4,163 | 2
3 | 465 |AEEKT| 12,460 [E35TH 913,270 ISRTFT | 6,579 [tEITH 169,322 iFHETH 2,175 | 3
4 | K)w 289 = 9,673 |t&lE i 566,020 iFAATT 4,747 [WaTH 108,064 iALZHT 1,564 | 4
5 |N\&Th 211 [ZEFEET 9,673 |FEEEFT | 386,956 ALJLINTH | 4,076 |E&ETH 95,112 i#&H 1,328 | 5
6 |fET 190 |Xijmmy 8,850 |AREKT| 290,372 IKSERFHT| 3,949 |AREKM| 94,948 HbFUNTH| 1,326 | 6
7 )i 171 W 8,492 |#AATH 277,988 AT 3,808 | KAMM 89,598 iKAMM 1,319 | 7
8 |E 5 163 |81 8,492 [ KM 250,939 iKARMHMT | 3,646 |FSREFHT 85,999 HE)I[MT 1,225 | 8
9 [KZEmET 157 |fRE 7,620 | HE™ 197,241 /A LET 3,486 | ™ 83,134 i KARHT 1,183 | 9
10 [ KByt 140 | KW 6,938 |AEET 142,409 ifE)ImT 3,106 |E 5T 50,605 it5 & 1,066 | 10
11 |gha 125 |E 5 6,129 [E 5 137,258 i&E 2,855 |[fRE T 43,726 KERT 1,039 | 11
12 [tk 118 |#itth 5,154 |THETH 122,701 i%%FRT 2,818 |HitkTH 42,783 iFLREIAT 1,023 | 12
13 |ZEFENT 115 [#ETh 4,938 |Hitkh 112,807 /My 2,696 [Hr= AT 40,764 iH ™ 1,001 | 13
14 |58 105 [4THETH 4,912 |Hr=mr 92,806 ATHETH 2,540 |\ L 36,006 HHTEAT 999 | 14
15 |F35mT 101 |HreHy 4,114 [N\ 88,167 if@llm 2,392 |E-gEiTh 30,890 i LFEHT 988 | 15
16 |1THEh 95 |/\Zcrhi 3,711 |E-giivH 84,228 i/INERTH 2,380 AP HT 30,404 iEASTH 974 | 16
17 |52kl 86 |KEpdTH 3,250 Az MT 75,366 M) 2,328 (Wil 20,371 I\ 952 | 17
18 |AoE 82 [XJilT 3,124 |#eTFHT 66,896 LT 2,323 | KJIITH 19,625 /MPTET 898 | 18
19 k& 77 @)l 2,574 (Wil 66,354 LT 2,292 [FE&Bm 19,541 itk 887 | 19
20 |HrEHT 76 |#FHT 2,416 (Wil 58,765 )IIIFFHT 2,291 [KEpykifi| 18,783 DHIEMT 866 | 20
21 5K 69 |Zkifi 2,363 [F3EHT 43,995 P\ 4 2,269 [M)IlT 18,713 G4 HT 846 | 21
22 |Xijmmy 69 [J=)11ET 2,350 |J&)11HT 43,325 iE 5T 2,243 |SiRIAT 18,384 iE 5T 840 | 22
23 [D=1Em 67 [EAim 2,268 |zEmki 43,066 FLAIIT 2,241 [T 18,150 &g 831 | 23
24 |J&)IET 62 |F3EMT 2,268 |FLRIHT 41,159 HE-FiH 2,228 |ZEhki 17,518 A LAT 794 | 24
25 |'=AEh 61 |ACZHT 2,247 [KJ)IIT 39,732 ZHrEHT 2,223 |1y 17,020 :it@l i 794 | 25
26 |¥zTHT 61 [k 2,165 | KEFBETH 39,457 PAREKT | 2,219 |TFERT 15,757 iERkT 769 | 26
27 |HJI 60 |FLEREH 2,061 [ KN 38,292 iZE _LHT 2,181 [Fp=ET 15,323 IARIKTH 755 | 27
28 |Ha=AT 60 |FiATET 1,855 |H&ixrh 36,330 4T 2,156 |ZEFENT 14,945 iZEFENT 753 | 28
29 | =i 59 [¥p=ET 1,760 [¥p=HT 35,238 PRJIPEMT | 2,145 [JoKHT 13,121 i@l 752 | 29
30 |EHT 58 |t 1,713 |/hERwT 35,165 | LFHAT 2,140 [/KEHT 11,732 % Eny 748 | 30
31 | HT 52 D= 1,708 [sRET 34,883 i KALNT 2,071 [DE1Fh 11,650 iR JIPERT 732 | 31
32 | ARET) [T 48 [H0FE 1,683 |ZEEmT 34,509 iR 2,070 |#zF0T 11,612 i &HHT 725 | 32
33 =& 48 |[/NEBTH 1,479 |2t 32,706 H@EENT 2,055 [/NERT 10,299 iJRJIET 721 | 33
34 |KART 45 [R&h 1,442 |/A1LET 28,958 DI 2,052 [k 10,239 iF*3=HT 719 | 34
35 |SFLAIIT 43 | HT 1,160 |&H= 25,628 i RAHT 2,048 |ARCEM 9,586 /IR 707 | 35
36 |FHITH 39 |/KEMT 1,137 |A<oFm 25,333 FEMT 1,972 |&H& 9,392 iFjRET 681 | 36
37 | K JIYERT 39 [T 1,120 |[#mHEm 23,402 HfAEET 1,940 | EERT 8,883 iHX|Il 678 | 37
38 | AT HT 39 |RARHT 1,120 | RAHT 23,390 iESEHT 1,923 |i&SaHT 8,107 :FEHH 676 | 38
39 |tk 34 [t 1,020 |/MAHT 22,025 HmENT 1,865 |f@¥ErT 7,842 iR 656 | 39
40 | K=ERFH 33 | KJIpeRT 998 |[imAmT 21,666 iZEWKTT 1,850 |H i 7,734 i RAEAT 653 | 40
41 |/KRET 29 | K=/Mm 963 [T 21,373 M)l 1,839 |/MPrET 7,213 REH 646 | 41
42 |&FEAf 28 |HLmT 958 | K JJBERT 21,332 i)Y 1,800 |XJIpERT 7,119 HJIlIgyAT 643 | 42
43 |/MTHT 28 | EENT 954 |f@BHT 21,056 iFHfETH 1,781 |m=amy 6,660 if@m T 629 | 43
44 |f&RHT 27 |fEZENT 952 | =EHT 19,663 ZHIEAT 1,700 |/ALLET 6,553 [ HEMT 623 | 44
45 | [ FEmT 25 |&HE 880 |/k&HT 19,435 i/KEMT 1,678 |[#mBHT 6,353 iXJIT 606 | 45
46 |fGZEmT 24 /MY 879 |iGSlT 18,847 f&ZEMT 1,632 |fGZEnT 5,785 fEZENT 604 | 46
47 |/NERT 21 [ALET 825 |f&ZEmT 15,940 RETT 1,582 |#EJIIHT 5,293 i KEFHLTH 595 | 47
48 | &EHMT 21 |HREJIHT 662 [FE)I1ET 13,676 iACE 1,482 | K=hFi 4,682 HimAmET 582 | 48
49 |HEJIET 18 |[flsE T 632 [FE AT 8622 iFEFMT 1,389 |[E AT 3,858 M)IlTH 574 | 49
50 |/A LT 13 |FHH 534 |[]sEmT 7,764 i HTH 1,388 |&HMT 3,669 iACEH 572 | 50
51 [ Ly 13 |&F&N 473 |&F B 7,422 HEETH 1,374 |BRE) 10T 3,531 HIREJIIAT 532 | 51
52 |JIIgFHT 13 [REJImT 451 |&EHNT 7,227 i[EENT 1,222 |&EATH 3,527 M 493 | 52
53 | EEHT BN E=) 396 [BRE)I[ET 7,014 PRBPET 1,220 |FEERT 2,923 KT 486 | 53
54 | &S 10 [JIgHT 193 |JIIgrAT 4,750 iXJIT 1,196 |JIlIgrEy 1,315 SRET 471 | 54
55 [ EMT 9 |FEHT 148 | KRAEHT 2,041 HREJINET | 1,030 |=REMT 1,065 i@ 468 | 55
56 |¥sH AT 6 | KNIERT 97 |7==MT 1,620 iFvm=ET 1,001 | KAERT 633 HTHET 378 | 56
57 |% MET A ENEL 87 | HAT 855 SR HAT 965 |56 HAT 315 SRHAT 362 | 57
58 | KAEMT 5 |¥sHBT 71 |FRFS 97 JRFS 470 |¥RHERT 162 fRFS 321 | 58
59 |ARKT 3 |oRAT 17 | kT VR HEHET 308 [FRAT 64 SHNT 222 | 59




